P& Maths Prelim 2024 Word Problems — 5CGS

Show your working clearly in the space provided for each question and write your
answers in the spaces provided. Questions can be found at the end of the worksheet.

1. 10 minutes = 10 + 60 hr = % hr
Average speed =7.5 + % =45 km per hr

Ans: 45 km per hr

2. Let u = cost of oven
Amount paid by Sue = 2 u—30 = 90 (1)
3u—-240 =720 (1)x3

3u =720 + 240 = 960
u =960 + 3 = $320 = cost of oven
Ans: 45 km per hr

3. 2 { can fill eight i { glasses

4 .

c £ can fill three % t glasses
i =2 E = i..

Remainder 577 " {

Ans: Et

4. <DBC = 58° (Isosceles triangle)

£LABE =90 -58=32°

£AEB =180 - 76 = 104°

£BAC =180 - 32 - 104 = 44°

- Ans: 44°

5. letGH=u

BC=v

Shadedarea=1/zxuxv+’/zxuxv—1/5xux§-v= Euv=36

uv = 36 x i'i = 45

Area of AGH =Y xuxv =% x 45 =225 cm?

Ans: 44°
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PE Maths Prelim 2024 Word Problems — 5CGS

c. a)

Total number of magazines sold last week = 3y x 5 + 2y + 10 + 4y — 2

=21y +13

b)

Number of magazines sold on Saturday & Sunday =2y + 10 +4y -2

=py+8=6x15+8=98

Ans; a) 21y +13
b) 98

7. Let number of Blue pen = u

Let number at first = v

Percent of Blue pen at first = % = %

10u = 6v Mm

Blue pen at the end = v_;g = %'6

10u = 8v - 1920

Bv = 8v — 1920 (substitute 10u from (1))

2v = 1920

v = 1920 + 2 = 960 = total number at first

10u = 6 x 960 substitute v into (1)

u =576

Number of red pen at first = 360 — 576 = 384

Ans: 384
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P& Maths Prefim 2024 Word Problems — SCGS

8. Number of 7 cm wires perroll =40+ 7=5R 5
Least number of rolls = 120 + 5= 24

Ans: 24
9 a)
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Ans: a) see figure
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PB Maths Prelim 2024 Word Problems - SCGS

10. a)
During 15 00 to 16 00 hrs
b)
161
c)
Average volume of water collected per hour = 80 + (17-12) = 16 £ per hr
Ans; a) 1500to 16 00
b) 161
c) 16 perhr
11.  Letu = amount of money at first

Cost of bag =—z-u
Cost of wallet =§u-—60
Costofdress=1/zx(§u+§u—60)

=%u-—30=remainingmoney=u- %u—(%u—60)=iu+60

3u-lu=60+30=90

g 4

-;—u=90

u =90 x 8 = $720 = money at first

Cost of wallet = % x 720 — 60 = $210

Ans: $210
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P6 Maths Prelim 2024 Word Problems — 5CGS

12. a)

Let width of small rectangle = u

Length of small rectangle = 3.5u

Perimeter = 7u + 2u + 3.5u + 3.5u + 3.5u + 3.5u = 23u = 138

u=138 +23=6cm

Length of small rectangle = 3.5 x 6 =21 cm

Area of ABCD = (6 x 7) x (6 + 21) = 1134 cm?

Ans: 1134 cm?

13. a)

Fraction of employees without electronic devices = % = %

b)

Number of employees with more than 2 devices = 80 + 60 + 20 = 160

c)

Total number of devices owned by employees =30+ 80x 2 +60 x 3 + 20 x 4
=450

BP~919




P6 Maths Prelim 2024 Word Problems — SCG5S

14, a)

Perimeter of quadrant = i X2X % x 28 =44 cm

Perimeter of 2 semicircles = 2 x % x7=44cm

Perimeter of shaded part =44 + 44 + 28 = 116 cm

b)

Area of square = 6 x 6 = 36 cm?

Area of quadrant =3.14 x6 x 6 xi = 28.26 cm?

Area of triangie = 2 x 3 x 6 = 9 cm?

Shaded area = 36 - 28.26 + 9 = 16.74 cm?

Ans: a) 116 cm
b) 16.74 cm?

15. a)

<QRS =180 -38 - 29 =113°

£QPS = 113°

£SPW =113 -21=92°

b)

2ZSPW = £RVU is True

2QWP = 180 - 50 = 130°

£PQW =180 - 21— 130 = 29°

<PQV =38 + 28 =67 = £PTU
Therefore TU is paralle! with QV is True

{corresponding angles)

Ans: a) 92°
b) T,T
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P6 Maths Prelim 2024 Word Problems — SCGS

16.

Volume of water at first = g X 75 % 40 x 48 = 108 ¢

Additional water 3 minutes later =3 x4 =12 ¢
Volume of water at 3 minute = 108 + 12 =120 ¢
Net outflow rate = 120 + 20 = 10 { per minute
Flow rate of tap B = 10 + 4 = 14 £ per minute

Ans: 14 { per minute

17.

Letareaof W=u
Area of X = 4y

Areaon=§ X4u=

wilw

u
Arecaof W& X =Areaof Y& Z
u+4u=-§-u+52.5
3u+12u=8u+ 157.5

fu=1575
u=1575+7=225

(1)
(1) x 3

Area of square =2 x (U+4u)=10u=10x225=225=15x 15

Length of square = 15 cm

Ans: 15cm
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2024 PRIMARY 6 PRELIMINARY EXAMINATION

Name: ( ) Date: 19 August 2024
Class: Primary8( ) Time: 8.00 a.m. —- 8.00 a.m.
Parent’s Signature: Marks: f 1 00
MATHEMATICS
PAPER 1
20
(BOOKLET A)

INSTRUCTIONS TO CANDIDATES

1. Write your name, class and register number.

Do not turn over this page until you are told to do so.
Follow all instructions carefully.

Answer all questions.

O w N

Use a 2B pencil to shade your answers on the Optical Answer Sheet
{OCAS).
8. The use of calculators is NOT allowed.




Questions 1 to 10 carry 1 mark each, Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Ans

wer Sheet.
{20 marks)

1.

Round 38 749 to the nearest hundred.

(N 38700
(2) 38750
(3) 38 800
4) 38 850
Express 8 50
(1) 8.03
(2) 8.08
(3) 8.30
{(4) 8.60

3
— as a decimal.

In a class of 33 students, 19 are girls. What is the ratio of the number of

boys to the number of girls?

M
2
)
(4)

14:19
14:33
19: 14
19:33
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4, A concert started at 15 40 and ended at 17 25.
What is the duration of the concert?

{1) 185 min
(2) 165 min
(3) 145 min
{(4) 105 min
5. Four lines intersect as shown below,

Which of the foliowing Is correct?

(1) Le=zd

(=) Lb=so

(3} ca=csd

{4) za=¢«b

6. A printer can print 18 books in 30 minutes.

How many books can it print in 3 hotrs®
(1) 36

(2) 54

(3) 108

(4) 180




7. Alni and Caili were queueing to enter a cafe. Aini was 5th in the queue. Cail
was in the middle of the queue and there were 8 people between her and
Aini. How many people were there in the queue?

) 25
{2} 26
)] 27
4) 28
8. Find the area of the triangle.
()  60cm?
(2) 64 cm?
3) 88 cm?
4)  96cm?

24 cm

8 om

- s -

9. The average mass of 4 children is 52 kg. David, who has a mass of 32 kg,
joins the group. What is the average mass of the 5 children?

(1)
2
)
Y

42 kg
438 kg
80 kg
84 kg

BP-926



10.

1.

12.

A wheel of radius 50 cm is rolled on a ground. How many complete turns
must it make to fravel a distance of 628 m? (Take = = 3.14)

(1) 200
@ 2
(3 400
4 4

Devi is 150 om tall. She is taller than Alicia by 20%. What is Alicia's height?

(1) 125 cm
(2) 130 cm
(3) 170 cm
(4) 180 cm

The figure is made up of a square and 3 equilateral triangles. Find the
perimeter of the figure.

12 om

(1)  78cm
{2) 66 cm
(3) 54 cm
(4) 48 cm

BP-927




13. A pen costs $5 more than a pencil. The cost of a pencil is $p. Find the cost
of 10 pencils and 5 pens in terms of p.
(1 $(5p+50)
(2 $(10p + 25}
@)  $(10p+79%)
@  $(15p+25)

14. Which of the nets shown below can form a solid?
A B
]
L L |
C D _
| [
|| ]
(1) Aand B
(2} Aand C
(3) Band D
{4) CandD

BP-928



15.

o] < e}

Andy started walking south-east from a point. He reached a point and
walked west. After reaching the next point, he waiked north and stopped at
X. Which of the following shows the correct path that Andy took?

(N B2>AS>D>X
(2 D3>B-YE~>X
(3) F2C>E=>X
{4} G>A>D>X

- End of Booklet A —
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2024 PRIMARY 6 PRELIMINARY EXAMINATION

Name:

Class: Primary 6 (

Parent's Signature

( ) Date: 18 August 2024

Time: 8.00 a.m. — 9.00 a.m.

MATHEMATICS

PAPER 1

(BOOKLET B)

INSTRUCTIONS TO CANDIDATES

Answer all questions.

U I

Wiite your name, class and register number.
Do not turn over this page untit you are told to do so.
Follow all instructions carefuily.

provided for each question.

o

The use of calculators is NOT allowed.

7. Do not use correction fluiditape,

8. Do not use highlighters on any part of your answers.

25

Use a dark blue or black ballpoint pen to write your answers in the space

BP~931




Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (5 marks}

16. Find the value of 24.4 + 5.67

Ans:

17. Find the area of the circle shown below. (Takext = 27% )

Ans: cm#

18. A train travelied 336 km in 90 minutes. Find its speed.

Ans; km/h

BP~932



19.

The bar graph shows the number of students visiting the school library over
4 weeks.

100

P . W Sy g

80

ad calans T S 2o o

80 1

40

20

Week 1 Week 2 Week 3 Week 4

The number of students in Week 4 is % of the total number of students from

Week 1 to Week 3. Draw the bar representing the number of students for
Week 4. You are not required to shade the bar.

20,

Simplify the expression 9—a+2a-5 + 8a.

Ans:

BP-933




Questions 21 fo 30 carry 2 marks each, Show your workings clearly and write your
answers in the spaces provided. For questions which require units, give your

answers in the units stated. (20 marks)
21. David had some toy cars. % of them were red, %of them were blue and the
rest were green. What fraction of the toy cars were green?
Ans:
22. The volume of the cube below is 125 cm?. Find the area of the shaded face.
Ans: cm?

BP-~934



23. MN and QP are straight lines. Find 2a.
P
o
M N
1429
0
Ans:

24, 5 students read an average of 4 books in January.

Anothar 2 students read an average of 6 books Inthe same month.
How many books did the 7 students read in total in the month of January?

Ans:

BP-935




25.
N
Qé’e'
&
$1 for 1 bun
$4 for 6 buns + 1 free
Mrs Law needed 50 buns. How much would she have to pay?
Ans: §
28. Ben made 2 £ of fruit juice. He completely filled some bottles with -g- £ of fruit
juice each.
{a) How many bottles did he fill?
Ans: (a)

(b) How much juice was left?
Give your answer as a fraction in the simplest form.

Ans: (b) 4

BP-936



27. The perimeter of the triangle is 2 times the perimeter of the square.
Find the length of one side of the square.
12.1om
54 cm
Ans: cm
28,

In the figure below, the area of rectangle ABCD is 48 cm?, The fength is 3
times its breadth. Find the perimeter of rectangle ABCD.

A B

Ans: cm

BP~937
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20, The usual price of a bicycle is $400. During a sale, there Is a discount of
25% for the bicycle. Find the sefling price of the bicycle inclusive of 9%
GST.
Ans: §
30. Charlie had the same number of two-doliar notes and ten-doilar notes. After

spending $20 and exchanging the remaining ten-dollar notes for five-dollar
notes, he was left with the same number of two-dollar notes and five-dollar
notes. How much money did Charlie have at first?

Ans: §

- End of Booklet B —
-~ End of Paper 1 —
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2024 PRIMARY 6 PRELIMINARY EXAMINATION

Name: { Date: 18 August 2024
Class: Primary 6 ( Time: 10.30 a.m. t0 12.00 p.m.

Parent’s Signature:

MATHEMATICS

PAPER 2
A 55

INSTRUCTIONS TO CANDIDATE

@ N DO RN -

Wirite your name, class and register no.

Do not turn over this page until you are toid to do so.

Follow all instructions carefully.

Answer all questions. Write your answers in this booklet.
Show your working clearly,

Use a dark blue or black ballpoint pen to write your answers.
Do not use correction tape or highlighter for your solutions.
You are allowed to use a calculafor.
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Questions 1 to 5 carry 2 marks each. Show your workings clearly and write your
answers in the spaces provided. For guestions which require units, give your answers
in the units stated. {10 marks)

1. The figure shows the amount of water in a beaker. 50 mi of water was added
into the beaker for the water to reach the level as shown. How much water
was in the beaker at first?

Ans; 2

2 The total number of marbles Sudin and James have is 384. The total number
of marbles James and Raju have is 526. The ratio of the number of marbles
Sudin has fo the number of marbles Raju has is 3 : 5. Find the number of
marbles James has,

Ans:

BP-~940
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3. EFGH is a trapezium with EH parallel to FG and IJKL is a paralielogram.
JF = FM. Find 2y.

Ans: e

1 2
4. A shop owner has 255 pens and pencils. — of the pens is equal to = of the
pengcils. Find the total number of pencits.

Ans:




5 Aliis u om talt, His mother is twice as iall as he ts. His father is (30 + u) cm

taller than him.

Each of the statements below is either true, false or not possible to tell from

the information given. Put a tick (v') fo indicate your answer.

Statement

True

False

Not
possible
{o tell

Ali's mother is taller than Ali's father.

(32 + 4u) cm.

The total height of Ali and his parenis is

BP-942



For questions 6 to 17, show your workings clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ latthe

end of each question or part-question.
(45 marks)

6. A total of 300 eustomers chose their favourite tropical fruits in a supermarket.
The pie chart represents the customers’ choices. Half of the customers chose
Durian.

Mango

Guava
19%

Burian

Starfruit

(a) What fraction of the customers chose Mango?
Give your answer in the simplest form.

Ans: (1]

(b} Find the total number of customers who chose Guava and Starfruit,

Ans: 2]

BP~943




7 The table shows the fines for overdue items from a library.

Each book 15t week $0.15 per day
2nd week onwards 20.30 per day

Each magazine 13 week $0.10 per day
2nd week onwards $0.20per day

(a) Nadrah returned a book which had been overdue for 6 days. How much did

she pay for the overdue fines?

() Sue Ann paid $3.45 for an overdue item, Name the item that was overdue.

Ans: (3)

For how many days was the item overdue?

Ans: (b) tem:

Days overdus:

BP-944
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8. ABCD is a rhombus and EFG Is a triangle. DC is parallel to EF.
(@) Find <ABC.

Ans: (a) [2]

(b} Find ZEFG.

Ans: (g) []




BP~946

9. In the square grid below, CD and DE are straight lines.
{a) Measure and write down the size of ZCDE.

Ans. (a) (1]

(b} Draw two more straight lines to form a trapezium CDEF where
CF = 2 x DE. Use a pencil to draw your lines and tabel point F. 21

10. The number of participants in a marathon increased by-25% in November as
compared to October. The number of participants in December.decreased by
30% as compared to November. The difference in the number of participants
between October and December was 18,

(a) Find the ratio of the number of participants in Octaber to the number of
participants in December. Give your answer in the simplest form.

Ans: (1]

{b) What was the total number of participants in December?

Ans: 2]




11,  Siti bought stickers from Shop A, Shop B, Shop C and Shop D.

She bought an equal number of stickers from Shop C and Shop D.
1
3 of the stickers were bought from Shop B.

5 of the stickers were bought from Shop A,

(a) What fraction of the stickers was bought from Shop C7?7

Ans: 2]

(b) Siti bought 133 stickers from Shop D. What was the total number of
stickers she bought?

Ans: [2]

BP-~947




12. The bar graph shows how a group of students travel to school.
The number of students is not shown on the scale.
The bar for the number of students who walk to school has not been drawn.

Number
of
students

i
1
I
!
i
1
I
|

:

Car Bus Walk Train

1
{a) 3 of the total number of students walk to school.

Draw the bar representing the number of students who walk to
school. 1

(b) The number of students who travel by train is 9p.
Find the number of students who travel by car.
Leave your answer in terms of p.

Ans: (&) 2]

(c) What is the difference between the number of students who travel by
hus and those who travel by train when p = 407

Ans: (b} By

BP-948



13, Pails C,D and E are filled with water to the brim in the ratio 3 : %51 oured
Pail D contains 4.56 £ of water. 40% of the water from each palt} P
into an empty Tank A. Then 80% of Tank A is filled with water:

(a) What is the height of Tank A?

Ans;: (a) [3]

{b) Find the capacity of Tank A. Give your answer in litres.

Ans: (b) 1)

10

BP-~949




14. The line graph shows the monthly sales of fruits from January to May.

360
300 =
//'
e
260 Ao
II “‘w
Number 200 = /,/
Qf \‘-..__ /l
fruite e i
sold 150
100
50
0
Jan Feb Mar Apr May
(@)  Which 1-month period shows the greatest increase in sales?
Ans: (a) to 1}
(b) What was the percentage decrease in the number of fruits sold from
January to February?
Ans: (b) 1
()  There were 15% more fruits sold in June than in May. What was the

average number of fruits sold per month from February ta June?

Ans: () [2]

11
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18. ECDG is a rhombus and ACDF is a trapezium with AF parallel to CD.

A F
110° mN
E
B G
\
c D

{a) Find £BCE.
Ans: (a) [3]

(b) Find the sum of ZEFG and ZFGE.
Ans; (a) {1]

12




ircles an mall
16. The figure is formed by 2 large identical three-guarter circlesanda s
three-quarter circle within a square ABCD.

B

122
(Take & = *;)
(a) Find the totai area of the shaded parts.

Ans: (a) [2]

(b) Find the\perimeter of the figure.

Ans; {b)

PR
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17.  The first three figures of a paitern are shown below.

Figure 1 Figure 2 Figure 3

The table shows the number of white and grey circles used for each figure.

Figure Number 1 2 4
Number of white circles 4 6
Number of grey circles 2 3

() Fillin the table for Figure 4. [2]

(b) What is the total number of white and grey circles in Figure 4257

Ans: b) (1]

(c) In Figure 425, what percentage of the circles are white?
Round your answer to 1 decimal place.

Ans: ¢} Figure £2]

- END OF PAPER 2 -
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SCHOOL :  TAO NAN PRIMARY SCHOOL
LEVEL :  PRIMARY 6
SUBJECT :  MATH
TERM  : 2024 PRELIM
BOOKLET A
Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q110
1 2 1 4 4 3 3 2 2 1
Q11 Q12 Q13 Q14 Q15
1 3 4 3 2
Q16) |[30.07
Q17) | 616 cm2
Q18) |224km/h
Q19)

Q20) [4+9a

Q21) |7/15

Q22) |125=5x5%5
5x5=25cm2

Q23) |52°

Q24) |5x4+2x6=32

Pg1l




Q25)

541=6
50 +6=8R2
8x4+21x1=32+2=8§34

Q26)

a)3
b)1/5

Q27)

5.4 +121+4+121=175+121=29.6

29.6 ~2 =148
148+4=3.7cm

Q28)

48 +3 =16
16=4x4

4x3=12
12x2+4x2=32cm

Q29)

100% - 25% = 75%
400/100 x 75 = 300
100% + 9% = 109%
300,100 x 109 = $327

Q30)

2-1=1
1x10=10
20+10=2
4x2=8
4x10=40
40 + 8=$48

Pg2
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PAPER 2

QD

150ml - 50ml = 100mi
=0.1L

Q2)

526 ~ 384 =142
5-3=2

142 +2x3 =213
384-213=171

Q3)

<EFG =180 -110 = 70°
<FM] = (180 - 70) + 2 =55°
<y =180 - 55 =125°

Q4)

1/3=2/6
6+9=15
255 + 159 = 153

Q5)

False
False

Qé)

a)100% - 19% - 25% - 50% = 6%
6/100 = 3/50
b)19% + 25% = 449%

300/100 x 44 = 132

Q7)

a)0.15x 6 = $0.90

b)1 week has seven days
0.15x7 = 1.05
3.45-1.05=2.40
2.40 + 0.30 =8 (days)
84+7=15
a) book
b) 15

Pg3
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Q8)

a)<GDC = 180 - 118 = 62°
<ADC = 62 + 36 = 98°
<ABC = <ADC = 98°

b)<GEF = 180 - 118 = 62°
<EFG = 180 - 52 - 62 = 66°

Q9)

Q10)

a)8:7
b)8-7=1
18 +1=x7=126

Qt1)

7/20+2=7/20x% = 7/40
b)7/20 - 7/40 = 7/40
133 + 7 x40 = 760

a)1- %-2/3 =20/20 - 5/20 - 8/20 ="7/20

Q12)

a)6u + 2u + 4u =12u
12u+4=3u

b)9p + 4x 6 =13.5p

C)9p+4x2=4.5p
9p - 4.5p =4.5p
Whenp =40
45p=40x4.5=180

Pga
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Q13)

a)11.25cm
b)6.84 L

Q14)

a)250-150 =100
300-230=70
February to March
b)200 - 150 =50
50/200 x 100% = 25%
€)100% + 15% = 115%
300/100x 115 =345
150 + 250 + 230 + 300 + 345 = 1275
1275 + 5 =255

Q15)

'a)<BCD = 180 - 110 = 70°

<EDC=180-107 =73°

<ECD=180=2x73 = 34°

<BCE=70-34 =36°
b)<GED = <EDC = 73°

<EFG + <FGE = <GED = 73°

Q16)

a)l4x2 =28
28x28=784
Y% x22/7x14x14 = 462
784 -462 =322 cm2
b)28x2 =156
22/7x56 =176
%x176 =132
132+132+14+28+28+14=348cm

Pgs
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Q7)) | ayil
4
b)(425 + 1) x 3 = 1278
)425 - 1 = 424
424 +2 =212
212 x5 = 1060
1060 + 4 = 1064
1064,/1278 x 100% ~83.3%

Pg 6



